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Objective Questions

1. The rate of change of area of a circle with

respect to its radius r at r=6cm is

A 127
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B.11m

C. 107

D. 8
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2. The rate of change of perimeter of a circle

with respect to its radius at r= 5cm is
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B. 27

C. 107

D. none of these
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3. The total revenue received from the state of
x units of a product is given by
R(z) =3z +36x +5 . The marginal

revenue when x =15 is
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A. 90

B. 96

C. 116
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4. The total cost C(x ) associated with the

production of x units of an item is given by
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C(z) = bx®> — 22* + 5z + 100. Then the

marginal cost when 5 units are produced is

A. 360
B. 390
C.375

D. none of these
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